(1) —HE A
=2 ¥ FE | BREF |EEAE|TEEYZREY| EREBHN|enansy AZEH
COE: A=k 100 291 282 121 - 111
25
®BEARFE 40 318 122 64 - 46
BIEAETE 100 258 246 118 - 105
26
®BEARFE 40 425 142 59 6 40
AXazazs—2avEH
COE: A=k 100 356 338 118 11 100
27
®BEARFE 40 462 177 78 - 46
COE: A=k 100 259 245 123 - 103
28
®BEARFE 40 430 148 68 - 48
BIEAETE 110 246 246 175 - 115
25
®BEARFE 75 594 337 95 - 76
COE: A=k 110 223 223 167 - 116
26
®BEARFE 75 517 287 95 - 79
#HERERH
BIEAETE 110 351 349 182 - 127
27
®‘EARFE 75 619 248 83 19 75
COE: A=k 110 285 276 152 - 126
28
®BEARFE 75 559 205 85 18 75
=2 ¥ FE | BREF |EEAE|TEEHZREY|EREBY|enansy AZEH
BIEAETE 65 169 157 85 - 67
RRutEEH 29
®‘EARFE 40 273 87 53 11 40
. GIEGISE:: 65 124 120 81 - 67
EEREER 29
®‘EARFE 35 174 58 45 6 35
COE: A=k 65 170 161 81 - 74
ANBIXIE=EFR 29
®‘EARFE 25 239 97 33 2 25




